TNl wsEm s e K xiERIHS

INNOVATION

COLLEGE ENGLISH




_ ONET: o s s 2 3w X 2 398 om0 3t

INNOVATION

COLLEGE ENGLISH

i "M*i‘ il P’ s i " _E: PGy \

! ‘ 1 e i i,

| 1 B 5 E o bt
1 = | I A Tl N o
!MJ »«*‘»»W’M 1o S emeri /4 2

A Viéwing, Listening and Speaking Course
EMEROEXRSE # 18
& EOXZIM MEE XEHK M

O wexrmsarsemmit



Pl A H (CIP) B

) AUET A IE R R, 4/ ERMHEHE. — L.
AR K AL, 2010
| WSE S S KRB RIIEM. BT A
ISBN 978 - 7 - 5617 - 7612 — 4

I.0g 1I.0OF- . OHEE-WTRBFE—HF
2—#HFESEER N.OH319.9

Hh [ A [ 548 CIP %di % 7 (2010) 2% 041981 =

T PN =

| Rl 5 45 BT R ROV BM
BITRPETEBT L BRE 4 - B4

BRER EXB
AMER TAFHE R B
FEmE TEY B 2
P BmE % 8
Rt mEH JTXX

i HIREIT  HRITEAR AR

#  u EmHoLLILEE 3663 S B4 200062

EiERN]  021- 62450163 F& &P TBULE 021-62572105
=AREEIE 021-62865537(FR&EH)

TIFE(HRME)ERE 021 - 62869887

e EYSTRCRLLIALES 3663 SERIMEAFRATTERD

N JIt www. ecnupress. com. cn

R E SRESORERAT

F A 787x1092 16FF

ED # 8.5

= H IATFF

R R 2010FE8BFE 1R

B R 2010F8AFE1R

B 2 ISBN978-7-5617-7612-4/H- 515
® i 30.007T

R A ERKEBA

R i P 5 BT IR L 1 2 [ AR 2 R O R B 7 021 - 62865537 BRR)



ATHRRBFTRRAFEERFRENE R, AMENARSETRETRE

B R AREEM RS FERERELLARNEBRREREN S JEER,

MA SR B S LR, BRI G RS, 25, B b e AL IR Bh AR R AR B, A
EFRERTEE WHEIEINEHAL, HhmkPd s SR FIFAE L it 84
Bﬂ‘d»%%’l‘i%#%ﬁu@?%iémﬁéﬁ,ii*if-iﬁmiizmléﬁﬁ:%“l’ﬁ&ﬁ%ﬁ&o B 3 & AP %
X B K FREHM, RESEMEFNEORN EANHAR, LBRANOHEEAF
HET R, AR E BT B SRS TR, '

AEHEMAG BB+ 5 /iiﬁﬁé-ﬁ-%éﬁi%z%iﬁ,u’-?—‘i%ﬁ?%ﬁ“P'uﬁnirl' %A

KM, B AR AR WL LIRS A X R4, Bt L%, BE BBFAEHH T
BE, AHMEBTEE B4R REFM, 34 £ X B 4. fRkE A AE P, AR
MEHGAEREI FHG ST HE, WIN, EHA AT FAGEFE R, KT RS
EHHARGHS, TERAMRATRTFABBE FEAoiz 52 40,

ARFIBMBFER OB ZEF R G I ES RUBRBERR A, 57T BIFLEHM,
EMEBRBFBELN, LFIREXE LA EELE S RIMESNT R E &P
’Fﬂr:}ik*%"\"‘%Hﬁﬁk#\dbifiiﬁk’%‘iﬁﬁ&lk"%—”‘i#ﬁ?'ﬁﬁlk"—%-"‘f#\riak#“vs)ll
5’1‘&119—}M«%rﬁ:ﬁ?@k#\*rﬁﬂi%ﬂi%k%‘\iiﬁﬂlk%—‘\%ﬁﬁlﬁk%ﬁ‘ﬂh—%—%?ﬁ
k%«‘fwﬂk%‘iiﬁféfﬁk’%{\lﬁﬁ?ik*‘—?‘-"db??%—iﬁl‘@i%#l&%\iﬂ%k# b K IR
RRFREIRATER FLFR LMFEER AR LEE AL, Exg
REDRHEEHKT RA— BRI, S HMGBE TR BT 25 ROERL, ERifi
RS W B,

RE BMNABAEM AR DK FREH S BE o) 34 b — B Tk, Fl B A
;Mﬁ;l%iz?i%%%‘i FHRKFEEHS— %&)ﬂfu&rkﬁﬂ‘ﬂ$%&#ﬁ&:”*"-

Ty VAR R B Bt , 4 35 KA,

IR A AR
2009 48 6 f



(B AR FEBATHAKAZ)E —Z WM AhH AL R EHM, R EET L AHF AL
A, TREEAASY aFEEA,

BALE BT RN RKRFRERFRAENEZ T X —, 2O TFANFHEE
KEFREEZFRK, RV KPEBETHHEHE LB R P4 AR LB RE, 7
FIR AR K, 43T BRI, KATS B A R 5B A, & 2 fhxF e iX 2 2] B AE B & AN
W TTBR

AHBALBAMBERFANZ K PGP FREARE, PAEF T RBAEZZN, F
ACEBRARGEIEETFER LR, AP ERR P KI5 EE L), A%,
Wik BFF @AM NG, EFTAEEE, HFHE . P LERFOFEERE
ET R E TN ERERARAFT @, TAXIKRFEENBOKRE; PERTHEAE
fedbik 3] K F R BWHKF, B E T TERAEFRITE THMXHYRRF,

HEMORTXRAZIBRAFTHIER., ATHEESZRAENHEM  AXEBHE L KE
BRANREERBEHEE . —LRHH I, AEECLHETEA L TEL:

FEMELAWEMN. AZBWFTA TR LAEFTE T EER . WABRRKE) , X &

BOTEAEWES, FIA R HHEEURFT TR, FESHNEI ESHEEIA
AFHBHINFHNEX, THFARBESREN NELAKENINS . RAMHEF 4
FNEEWNA,

GER .G THFE. BERRFLSH, EATE BXHE, LFHHE. MK
HEMEEALR, BEFEREUMEIERNANLE S, REZIFZBRTREEHA, FTTHR
WERHEW LR FERLETER. '

AHAED 4 M B EFH— A, FIRICRE A TR S 5 R 6 AT Ao iR A2 Btk
ZHEFL, HBIFHE, A#BEREFEHE(—DRAMEATEREZZAGHFK
R, ik B EHAERNRA P, GENE, I, $ATEE L A e inb s A%
Fi AR B BFARRBRITLAHING, BRFEEAHERDNF L RRATE
TR S . ’

REAHBEAGHEIARPRIASLEREREFR TR IE, A—xuii i+
Fou ol Bl

AFRERIBEMBER
2009 4 6 A



—. B

AHBEEZTAMR, ZE0ESLT , NESTALAN TEELREARRELY
AL A s BLAE R BT E A, AR B A M EEM, S AAS G TR B4R XKER
BHA K ; AR R P B TR, A RFSAILARRAGFEIL(RE VR EHF
LA A L ARR), XAHTFREZESFIHKE, I BMNEXSTRAB R, B4
RIELE,BRFIOERN, LES SRR FAEN AL TR,

. BMNESEN

1. BANRAHRT T E B OARBRE GRS FHAE)PHRIOMRE LR —F
M LNEBRAE METFARBENET,

2. #BMEHRS FRAM ERAEGHH, L FASZARA, EAEHASTAHERAN
i, AR, ABERGE - M PR —FEME TERAMGEM, = 9HE
XA EMBE T 5 A EM,

3. AXBR OB FEEPH—LEM(EL. S 2FEEF), LEEAS
B, #) 40 % —# Unit 1 A48 Facebook. iPod, & =# Unit 7 A B £ B X B K% L
MEH SR E AR BEAM R, BE 0B HFFEGXABRFAAE LEE LS
P EAASH R EFM, B FHRDNAE GRS HRiESE SUVIE, B 5= B
J&EF A E SR, A RANA . MEAFRET, bR P A — SR A A,
RAT AL LiE BB A K KRG,

4, REXREBFRENTOREMBETA, ATAARHR D, X ETHIE S Foid A
EEHRAREN., BT, BARIARARECALEIFTHNE S @, ES2HRAETHY
BETHETE, RBEIX BB, REBEGAAMLHT 5 MEFE3IAKSE2 BT
HEL, HESZ TR, AASHRADERME, F= OMZHINMAKRSERIEFTS
B, AP EFARE. FEFAE,

5. M PR ERERG . AARBY 0B RAE BAFARGFT,

6. EXIHHSEANT AL PEH NG ZETEMAR AL EE, AEFREAR,

7. MRFPHRRABLE EE WEREKA L HE L, MEFERBRAG2E,

=. HFIBHRE :

L %I BXBHN REET MK, blde, H— ZHOAEHAS A K £ MRA
Z OMUABKREGRERLTHAA L,

2. NEHEKRIF, QL KRFEEDR ANEHRXGHAR,

3. HE4hIMH X REHAH., #ldeFANIH 5 (Lead-in) & A X EE K , I ek
THOMENLT KBS R EFR AR ERRBRBOFARITR LG DE4T, HAE
F—EvuMERARAL TMAXGBR. BAZIERBAEMENZEL,LFAAER

ne
A



ABXBREEE, FIFHAXERLOTHER, AHERBARNHEZELE, ETFAHF
BB, EZHY,

4. AT RERFELTHIRE R REEAF RILARE IR E, ZNEHEZN
A EE ORAE T HBRAERRREA L R F A ERIEE T HORAIIE eIk,

5. Pt # (FiE S5 AR ITTRESBE ML , A THESFAEEGRKE, 2iF
P AR EER R TAT, AR ENF AT,

6. F3AMASHIEWMEE, #ld, (DX BHMTEREMGFALT B RIE
BEEMBL ZEEBER, KN EL5ELNIZNEEERBEAABX  ERFLHLE
SRS W BIEAT B AW T BB ERALGEL LN, ABEXFENL%T
KXKETFREEM., QFmTESFTRAALE, ARZFATRDBEEHEG LA, LI
F #H

EAM
2009 4 6 A

> x ; & B. Listen to the conversation again and complete the blanks in the flow chart.
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C. Pair work: Work with your partner to discuss the questions.

TI'd like to save room for dumplings. | ited by law in many
1 hope to save some space for dumplings. . - to them.
1 need some room for dumplings.
E. Pair/Group work: Work with your partner(s) to order dishes according to the 2
following situations ; and services
1. Suppose you are treating a foreign exchange student to a Chinese dinner. Select six dishes
from the menu. Briefly give reasons (such as price, taste and unique Chinese cuisine) for
your choices.
oerators,
partner.
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A. Examine the flow chart showing a typical company’s organizational structure
Match the words to the pictures. Then answer the question.

I A. Purchasing Department

I B. Marketing Department

! C. Manufacturing Department

: D. Research and Development Department
| E. Accountancy

; F. HR (Human Resources) Department
i G. General Manager

|

|

|

|

I

1.G 2.F 3.D 4 E 5. A 6.C 7.B

B. Six people are talking about the advantages of working for a big company or a
small one. Listen and supply the missing words and then answer the question.

Opinions
1. There are a lot of advantages in working for a small company. You have more opportunities
to talk with the boss. Problems are easily resolved between employees. Easy to become senior
employees. Easier to get a pay raise. More chances to get a bonus after each project.
2. Small firms tend to give you more varied experience, and often a person has to do a wide

range of jobs. This will probably raise your motivation to make a better effort.
3. In small companies, no other person can really help you as they are busy on their own tasks.



Unit 1

Smaller companies most likely have smaller budgets, a smaller amount of capital and more
risk in losing a contract to a bigger company, hence adding insecurity to your job.

With a small company, one big drawback I have seen is that they have usually one core
product, and they just revolve around that so there is little chance to innovate. I assume a big
company can provide you with more challenges and growth opportunities.

In a large company there is the potential to move to different roles or departments without

_ actually changing your employer.

Who cares if you are in a big or small company, as long as you are paid what you think you
are worth. In both cases there is room to grow with the company. If you enjoy the work,
there is no problem!

Nancy: Hi, Richard, our company is running into trouble.

Richard: What’s up? You sound terrible.

Nancy: Let me tell you. It all started with the death of old Johnson. He was the chairman
of the board and owned 40 percent of the company’s shares.

Richard: So what?

Nancy ; " He left 40, 000 of his 50, 000 shares, or 4 million dollars, to form a trust.

Richard; That’s OK. '

Nancy: But he also left 10, 000 shares to his brother Chris.

Richard; Why not? Chris helped to tide him over some difficult times.

Nancy; Chris has been spending money like water and is in the red now.

Richard; Yeah, everybody knows he’s been fooling around for a long time.

Nancy: Now that old fox Tony is making an attractive offer to Chris to buy all his shares.

Richard: We can do something to prevent this from happening. This is a private company.
If Chris is going to sell his shares, he’ll have to offer them first to the other
shareholders like us. '

Nancy: Well, the problem is this: I haven’t got enough money to buy his shares, neither
have you.

Richard: We’ll have to try to hold onto the controlling interest. Maybe we can get a loan
from the bank. '

Nancy: I can mortgage my cottage. That should be worth something.

Richard; That’s true. We’ll find a way.



Internal Operations of Companies

A. Watch the video clip and choose the best answer to each question you hear.
1. Which of the following could be the BEST title for the conversation?
A) How to Buy a Company.
B) How to Sell a Company.
C) How to Protect One’s Company’s Interests.
D) How to Deal with a Foolish Young Man.
2. How much is a share of the company worth?
A) 150 dollars.
B) 100 dollars.
C) 50 dollars.
D) 40 dollars.
3. Which of the following is a true description of Chris?
A) He does not do anything serious.
B) He is a promising young man.
C) He wants to help the company tide over the difficult period.
D) He wants to help the two speakers.
4. Why must Chris first sell his shares to other shareholders?
A) Because he is on good terms with them.
B) Because he wants to cheat them.
C) Because the company is a state-owned one.
D) Because the company is a private one.

B. Watch the video clip again and complete the table with the information you hear.

Problems

Solutions

C. (Omitted)

D. In the following box of substitution expressions, tick those you heard in the
conversation. Memorize all the expressions in the box. Then make a new
conversation with your partner by using any of the expressions. You don’t have
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to repeat all the details in the original conversation.

(As an additional exercise after the students have ticked the expressions they heard and
before they make a new conversation, the teacher can display the incomplete conversation in the
courseware on the screen and give the students directions such as:

Directions: Look at the incomplete conversation on the screen and work in pairs to orally

complete the conversation using any of the substitution expressions. )

Substitution Expressions

You look miserable.
You sound terrible.
You’re in bad shape.

What might happen next?
So what?
What consequences will there be?

Chris spends money like water and is in debt now. ‘ ,
Chris has been spending money like water and is in the red now. .
Chris throws money around and has fallen into debt. ‘ '

maintain the contrblling shares
keep a grip on the controlling shares
hold (onto) the controlling interest

We’ll find a way.
We’ll find an answer ( find a way out).
We’ll have a solution.
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E. (Omitted)

Conversation 2

Philip: Henry, these sales figures look good; how’s our bottom line?

Henry: Not bad, Phil. But if we can find a way to reduce our expenditures on hardware, it
‘ | will be even better.
. Philip: Have you looked at off-shore suppliers? I know you like to buy domestic products
when you can, but off-shore prices are better, I think.
Henry: Yes, it is a tough decision. I like to support local businesses. Outsourcing is
creating a lot of problems in our country. ' '
Philip; It is what everyone talks about. But if we don’t operate at a profit, then our

company will have to be closed down.

Henry: And then more jobs are lost. It’s a complex problem, for sure.
Philip: Our higher labor costs are competing against the lower labor costs off-shore; that’s
the heart of the problem.

Henry: So we need to raise our production efficiency to overcome the differences in labor

costs.

Philip: Our manufacturing processes are pretty efficient as it is. There isn’t much room for
further improvement.

Henry: So it comes down to lowering hardware costs.

Philip: You could contact our suppliers here and discuss the problem with them.

Henry: That’s a good idea. We should involve everyone in the solution.

. Watch the video clip and answer the questions you hear with Y (Yes) or N (No).

1. Does Henry advise Phil to cut expenditures on hardware?

. Do Henry and Phil both think off-shore suppliers are a good choice?

2
3. Will the company be shut down if they do not make a profit?
4

. Isa highef production efficiency proposed as a solution to solve the problem of higher
domestic cost?

ng 5. Do the two men believe the present manufacturing processes are inefficient?

B. Watch the video clip again and identify the main idea of the conversation by
completing the blanks.

To further improve the company’s profits, they have to find a way to reduce their
expenditures on the hardware provided by off-shore suppliers. Off-shore prices are better, but
outsourcing is creating a lot of problems in the country. However, if they don’t operate at a

profit, then their company will have to be closed down and more jobs will be lost. To solve the
problem, they need to raise their production efficiency to overcome the differences in labor costs.
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But their manufacturing processes are pretty efficient as it is, and there isn’t much room for
further improvement. Finally the solution comes down to lowering hardware costs.

( Omitted )

D. In the following box of substitution expressions, tick those you heard in the
conversation. Memorize all the expressions in the box. Then make a new
conversation with your partner by using any of the expressions. You don’t have
to repeat all the details in the original conversation.

(As_an additional exercise after the students have ticked the expressions they heard and
before they make a new conversation, the teacher can display the incomplete conversation in the
courseware on the screen and give the students directions such as:

Directions; Look at the incomplete conversation on the screen and work in pairs to orally

complete the conversation using any of the substitution expressions. )

Substitution Expressions

cut our spending on hardware
decrease hardware costs
reduce our expenditures on hardware

Our company will have to be closed down
‘Our firm must be shut down.
Our corporation will go bankmptg .

the lower overseas labor costs
low-cost labor abroad
the lower labor costs off-sho

There’s hardly any possxblhty for mpmvement
There’s scarcely any way to improve.
There isn’t much room for further hnprﬁvelnent
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E. Debate

~ Topic: Are you for or against outsourcing?

- Procedure

;‘ 1. Before coming to class, the students may surf the Internet for relevant information.

2. In class students are divided into groups of four.

3. Within each group the students are divided into an affirmative and a negative team.

- 4. The two speakers of each team brainstorm to formulate their points of view.

S. The two teams have a debate.

6. One group is invited to debate in front of the class.

Directions: If you don’t have enough ideas, refer to the following words and phrases
‘ concerned with the advantages and disadvantages of outsourcing. You may also add points of
view to the lists.

- Affirmative ;

Saving costs

Better-quality products

Making use of more advanced technology overseas

Making use of more competent human resources abroad

High productivity and more income

With more income, better development of the company

With more income, more people employed by the company ( perhaps for other
purposes )

Motivation for the company’s present staff to work harder and improve their skills

The advantages are greater than the disadvantages.

Negative .

Some employees losing their jobs

Less likely for the company to train its own eﬁgineers and technicians

Difficult for the company to make innovations

The company’s loss of key technology

Risks of disclosing the company’s technical and business secrets

Negative influence on the local economy

Difficulty in communicating with people in a different culture (' cross-cultural
communication barrier)

Difficulty in taking legal actions in a foreign country

The disadvantages outweigh the advantages.



Unit 1

Conversation 3. Additional Listening and Speaking

';,ir::' Script

«"-:'_;/"3 Jane. Hello, Max. Haven’t seen you for ages. What are you up to?

. ’'m with Nanjing Noodles Limited, doing R&D. And you?

. Still teaching English to Spanish-speaking children.- You’re in R and what?

. R&D. Research and Development. We work on noodles.

. You must be kidding. You did well in math and physics, so I thought you’d be a scientist.
. T am. In R&D we have to integrate science, technology and industry. -

. That sounds impressive, but do noodles have anything to do with science?

. My colleagues and I are developing a new kind of noodles.

. You believe the world is waiting for a new kind of noodles?

. 1 do. We all love noodles, but they’re full of calories, fattening.

: Why not work on something useful like nicotine-free cigarettes?

. That’s a joke. But IBM and Microsoft made billions from R&D.

. You should look for a practical job like designing a production line.

. The day you read how Nanjing Noodles flood the market, think of me and R&D.

A. Listen to the conversation and choose the best answer to each question you
hear.

1. What is the woman doing?
A) Teaching English.
B) Teaching Spanish.
C) Studying noodles.
D) Studying IBM machines.
2. Why did the woman think the man would be a scientist?
A) He was good at teaching children.
B) He was good at math and physics.
C) He was interested in noodles.
D) He was interested in Microsoft programs.
3. What does the man say about the new kind of noodles?
A) They’re full of calories.
B) They are fattening.
C) They are healthy.
D) They are inexpensive.
4. What does the woman imply by saying “Why not work on something useful like nicotine-free
cigarettes?” '
A) She is especially interested in cigarettes.
B) She is especially interested in nicotine-free cigarettes.
C) She does not think the research on noodles is useful.
D) She suggests combining cigarettes and noodles in the research.
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5. According to the man, what will be the reason for the future success of Nanjing Noodles?
A) His boss’ far-sightedness.
B) The woman’s help.
C) His good luck.
D) His R&D. _
B. Listen to the conversation again and answer the questio'ns by completing the
blanks.
1. What is the man up to?
He is with Nanjing Noodles Limited, doing R&D.
2. What does the man say to prove that he is a scientist?
He says, “In R&D we have to integrate science, technology and industry. ”

3. What does the woman finally say about the man’s work?
She says the man should look for a practical job like designing a production line.

C. (Omitted)
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Research and development, or R&D, is becoming increasingly important in the
pharmaceutical industry. Research often refers to basic experimental research, and
development refers to the application of research findings. Research aims at finding out
possible chemical compounds or theoretical mechanisms. In the United States, universities
are the main providers of research-level products. Corporations buy licenses from universities
or hire scientists directly when potentially profitable research-level products emerge, and the

. development phase of drug delivery is almost entirely managed by private enterprises.
Development is concerned with proof of concept, safety testing, and determining ideal

levels. In the United States, the development phase can cost between $10 and $200
million, and about one in ten compounds identified by basic research pass all development
phases and reach the market.

Nowadays research and development are of great importance to business as the level of
competition and the production processes and methods are rapidly increasing. It carries a
special importance in the field of marketing, where companies always keep an eagle eye on
competitors and customers to keep pace with modern trends and analyze customers’ needs
and desires. Now many companies have separate research departments that must keep pace
with modern times.



